Find a number that fillsin both blanks. C Find a number that fillsin both blanks.

21+ 7= i 32+4=
x7=21 X 4 =32

----------------------------------------------------------------------------------------------------------------------

Find a number that fillsin both blanks. i Find a number that fillsin both blanks.

6+ 6= i 36 -4 =
XB6=6 5 x4 =36
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Find a number that fillsin both blanks. C Find a number that fillsin both blanks.

28+ 7= | 45+ 5=
x 7 =28 i x 5=45

----------------------------------------------------------------------------------------------------------------------

Find a number that fillsin both blanks. i Find a number that fillsin both blanks.

21+ 3= ; 18+ 2=
x3=21 § x2=18
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Find a number that fillsin both blanks. C Find a number that fillsin both blanks.

18+ 6= i 20+ 5=
XxX6=18 x5=20

----------------------------------------------------------------------------------------------------------------------

Find a number that fillsin both blanks. i Find a number that fillsin both blanks.

54+ 9= i 36+9=
Xx 9=54 5 x 9=36
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Find a number that fills in both blanks. E Find a number that fills in both blanks.

5+1= ; 72+ 8=
x1=5 ; x 8=72

----------------------------------------------------------------------------------------------------------------------

Find a number that fillsin both blanks. i Find a number that fillsin both blanks.

16 + 8 = ; 24 + 6 =
x 8=16 § x 6= 24
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Find a number that fillsin both blanks. C Find a number that fillsin both blanks.

12 -4 = 54 -6 =
X 4=12 X 6=54

----------------------------------------------------------------------------------------------------------------------

Find a number that fillsin both blanks. i Find a number that fillsin both blanks.

2=-1= 48 - 8 =
x1=2 5 X 8=48
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